
Solution for 1.3 Water Slide (Answer = LEAKING) 
Taking the key tile you then translate the dots on the other tiles into the numbers 1 to 15. Then you solve the 
classic 15 sliding puzzle and take note of the the tiles that are touched. It is important to note that you can move 
twoadjacent tiles at once while only touching one of them. Then, translate the numbers 1-15 to the first fifteen 
letters of the alphabet and the tiles touched when solving the puzzle correspond to letters that form the word 
leaking. 
 


